Eco 601

Fall 2002

Problem Set #3

Due:  Friday, September 20

From Nicholson, Ch. 4:

1.  4.1

2.  RE Example 4.3, p. 104-5, The Lump-Sum Principle:  In a diagram with budget constraints and indifference curves, illustrate (1) the person’s original budget constraint and consumption bundle; (2) her budget constraint and consumption bundle after a $.25 per soft drink is imposed; and (3) her budget constraint and consumption bundle when, instead of a per unit tax on soft drinks, she faces an income tax of $.50.  Be sure to label the utility levels associated with each indifference curve.

3.  From a not-so-old prelim:  Mr Duffer earns a wage of $10 per hour and works 1800 hours per year for an annual income of $18,000.  He is about to turn 65 and will qualify for a Social Security retirement benefit.  The benefit is reduced if the individual works for pay.  Mr. Duffer qualifies for a $9,000 per year retirement benefit but his benefit is reduced by 50% of his earnings if he works.  In other words, his Social Security benefit is B = $9,000 - .5wH and his total income is wH + B, where w = wage rate and H = annual hours of work.

a) Mr. Duffer claims that, when he turns 65 and begins collecting Social Security, he will find another job and reduce his hours of work to 600 hours per year.  Does this claim make sense?  Illustrate your answer.

b) Now suppose that the above Social Security benefit is replaced by a program that gives him a fixed benefit of $6,000 per year and is not reduced if he works.  How do Mr. Duffer’s desired hours of work compare to that in (a)?  Compare his desired hours to his original 1800 hours.

4.  To get an orange, Suzy Scurvy would be willing to give up $.50 worth of other food.  However, if she already had an orange she would only be willing to give up $.25 worth of other food to get a second.  Her willingness to pay for a third orange diminishes to $.10.  On a recent trip to the supermarket she found that oranges were $.35 each, or 2 for $.55.  Since the price of one orange was less than her willingness to give up other food for one orange, but the average price of two oranges ($.275) exceeded her willingness to give up other food for a second orange, she decided to buy one orange.  Fortunately for her, she runs into you at the store.  Explain to Suzy why her decision does not make her as well off as possible and tell her how many oranges she should buy in order to improve her wellbeing.  A sketch of her budget constraint and two indifference curves might aid your explanation. Assume that she has $10.00 to spend on food.  Also draw the indifference curves that pass through the points (1, $9.65) and (2, $9.45).  (Note:  In your diagram you should plot oranges on the horizontal axis and expenditure on other food on the vertical axis.  Also, you need only to include the upper left portion of her budget constraint in your illustration.)

